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( Major )
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( Introduction to Environmental Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

WWW‘TW@WWW:

(a) What is free riding?
y& R 2

() "What dor you §mean by green
accounting?

i s 3ot 7 = 2
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(2)

¢/ When does

‘environmental
occur?

crisis’
AR D o Teq 219

(d) A good or bad that is both rival and
excludable is a —— good or bad

( Fill in the blank )
GICE 3 wfEwEE f{eh) Sorr afor®)

AP T ORGI wE @b
SR | RIS

(41 & o 1 )

e} Environmental degradation creates
poverty.

( Write True or False )

! ﬂﬁﬁéﬁqmﬁﬁﬁzgqﬁggmjﬁgaqu

(o= @ o o )

() Give an example of public bad.

AlEER) Wﬁ?ﬁsﬁ?ﬁ?{ 95 W‘f .

A7/342
{ Continued )

(9)

( 3 )

Marginal Social Cost = Marginal
Private Cost + —

( Fill in the blank )

WW@@W=WW%W

ar |

Cakrkukal

2. Answer the following questions : 2x4=8

G

(@)

(b)

c)

A7 [342

epeprEd Ted fordl :

3 E 2 »
“Environment 18 & public good.
Comment.

oz 37w @AY AERdl @ " e T

Distinguish between public good and
public bad.
ofefe) T |

Mention two advantages of economic
incentives over command and control
approach.

o S Ed omfeed AT
SECeEAR o1 A T !

{ Turn Over )



(4 ) ; ! (5)

(e} Give an outline of the recent global
environmental problems.

(d) Why, in recent years, environment is
considered as a partner of an
economy?

T TS AR [ @ Sy
SEAE (RAT) bt ety v 2w 2

JHFE (IR ARES PIPRs ol
IEEEERAIE TN

3. Answer any three from the following

questions : 5x3=15 4. Answer the following questions :  10x3=30
T PR R i fofbm T o S eRTRe Teq ot

{c) What are the aims and objectives of

environmental economics? {a) Explain how material balance model

(b)

AR weHifes T oW SR
IERE

Mention the characteristics of public

shows interlinkage between economy
and environment.

AR NSl W@ @ At we

200Y. ARG BT (R, T <41 |
rEEd] W99 CIREPTR Soad 4 | :
{c) What causes lead to market failure in Or/ %1

(@)

A7/342

an ecornomy?
(FIER FAE Q97 SIS quE [fwerer
S8 I 2

“Environmental Kuznets curve is
inverted U shaped.” Why?

“oARENE gEee W Sl U
whes 1”7 7 7

{ Continued )

What are the causes responsible for
climatic change? What steps have
internationally and nationally been

10

taken to mitigate this problem? 5+5=10

TR AR e TEam w5 e
& TP FEE AR WA TSI F B
*Rire & 5 997 229 91 0% ?

( Turn Quer )
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(b)

(c)

A7/342

(6 )

What do you mean by externality?
Explain various types of externalities.
2+8=10

Al e & oqmir [fem  geEw
fRrrerR TR o |

Or/ 31

Mention the features of common
property resources. Explain the
concept ‘tragedy of commons’.  5+5=10

NG Seofaste sewe EREPTE Tad
i | W T | i s i N et e T
gerfs =R f&e |

Critically discuss the command and
control approach as a policy of
pollution control. 10

o@l g 9 e Rorer oot @
g omfeq @b THIGEIBANS  SHCED
SSECEE] |

( Continued )

(=7 ]

Or/ 31

i"l‘hcrc are three types of economic
tiieentives.” What are those? Explain. 10

et e o o 7 ot
[ 1 2 q=i2 forn '

ook K
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